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1.	 Eva folds the image on the right along the dashed line.
	 In one place, 2 of the same squares will end up on 
	 top of each other.

	
	 What does that square look like?

	 A.		  B.		  C.		  D.		  E.

2.	 Mia plays a jumping game and jumps to the next square each time.
	 Each square has a number (see picture).

	 Which of the following numbers will certainly be one on which Mia 
	 will land only on her right foot? 

	 A. 13 		  B. 15 		  C. 20 		  D. 21 		  E. 23

3.	 Without lifting the pencil, Djairo wants to draw the figure on the right.

	 What is the shortest total length he could draw?

	 A. 6 cm		  B. 7 cm		  C. 8 cm	  	 D. 9 cm		  E. 10 cm	
	

4.	 Emma has 6 puzzle pieces to make a caterpillar.

	 She wants to make a caterpillar with a head, a tail and either 1 or 2 puzzle pieces in between.
	
	 How many different caterpillars could she make?

	 A. 4		  B. 6		  C. 8	  	 D. 10		  E. 12	

5.	 Sanne and Peter are flying kites.	

	 Which of the following pictures must you put on the rectangle to make 
	 both children fly their kites?

	 A.		  B.		  C.		  D.		  E.

6.	 In a truck, 6 boxes are piled up as in the picture on the right.
	 Martin puts the boxes on the ground. 
	 He can only pick one box at a time, on which there is no other box on top of it. 
	 He puts a box on the ground or on top of another box.

	 Which of the following stacks can he not make?

	 A.		  B.		  C.		  D.		  E.
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7.	 The outer wheel rotates clockwise one place per minute.
	 The inner wheel rotates exactly one place anti-clockwise per minute (see pictures).

	 Which number stands in front of the letter F at the 
	 moment number 2 is in front of the letter C?

	 A. 1		  B. 4		  C. 5	  	 D. 6		  E. 7

8.	 Simon takes 4 cups from the cupboard and puts them randomly on the 4 saucers.

	
	 Which statement is correct?
	
	 A. It is certain that none of the 4 cups stands on its matching saucer.
	 B. It is certain that exactly 1 cup stands on its matching saucer.
	 C. It is impossible for exactly 2 cups to stand on their matching saucer.
	 D. It is impossible for exactly 3 cups to stand on their matching saucer.
	 E. It is impossible for all 4 cups to stand on their matching saucer.

9.	 Peter has a package of 445 g and the following 8 weights:
	

	 He puts the package on the scale, as shown in the picture.

	 What is the minimum number of weights he needs to balance the scale?

	 A. 2		  B. 3		  C. 4	  	 D. 5		  E. 6

10.	 Dana  wonders what this structure looks like from the back when 
	 the coloured bars are on the ground.
		
	 What is the correct answer?

	 A. 		  B. 		  C. 	  	 D. 		  E. 

11.	 In a hotel, the rooms are numbered in ascending order from number 1.
	 Fenna looks at all the numbers and sees 14 times the digit 2 and 3 
	 times the digit 5.
.

	 At most how many rooms can there be in the hotel?

	 A. 25		  B. 26		  C. 34	  	 D. 35		  E. 41

12.	 Rosa draws a tower of rectangles that are all of the same size.
	 The width of the tower is 45 cm and the height of the tower is 30 cm.

	
	 What is the area of 1 rectangle?

	 A. 24 cm2	 B. 27 cm2	 C. 30 cm2	 D. 33 cm2	 E. 36 cm2
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13.	 Darcy has a necklace of 16 beads with numbers on them.
	 The numbers on the beads attached to each other differ by exactly 1.
	 One of the beads shows the number 5 and one of the beads shows the number 13.

	 How many different numbers are on the 16 beads?

	 A. 9		  B. 10		  C. 13		  D. 14		  E. 16

14.	 Below you can see 8 digits in Braille.

	 How many different 2-digit numbers are there with exactly 5 black dots?

	 A. 10 		  B. 12 		  C. 20 		  D. 22 		  E. 24

15.	 Kirsten has 2 identical rectangles.
	 They both have an area of 18 cm2.
	 Kirsten slides the 2 rectangles over each other.
	 The new rectangle has the size of 3 identical squares.

	 What is the area of this new rectangle?

	 A. 24 cm2	 B. 27 cm2	 C. 30 cm2	 D. 33 cm2	 E. 36 cm2

16.	 There are 2 big squares with the same area.
	 For the first square, the midpoints of each side are used.
	 For the second square you make 4 small squares by dividing each 
	 side into 3 equally long parts.
	 The area of the grey part in the first square is 9.

	
	 What is the area of the grey part in the second square?

	 A. 4		  B. 8		  C. 9		  D. 10		  E. 12

17.	 The Municipal Council  of Kangaroo City wants to colour the 7 metro 
	 routes on the map.
	 Routes that cross each other should not have the same colour.

	
	
	 What is the least number of colours they can use?

	 A. 3		  B. 4		  C. 5		  D. 6		  E. 7

18.	 Christian has cut 4 small squares from a large square sheet of black paper.
	 The total area of these 4 small cut-out squares is as big as the area of the remaining black figure.
	 The lengths of the sides of the cut-out squares can be seen in the figure.

	 What is the perimeter of the black figure?

	 A. 36		  B. 40		  C. 44	  	 D. 48		  E. 52
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19.	 There are 3 identical dice on the table.

	 What is the sum of the numbers written on the bottoms of these dice?

	 A. 26		  B. 40		  C. 43	  	 D. 47		  E. 56

20.	 The figure alongside shows a beehive with 16 houses.
	 Some of the houses contain honey. The numbers in each house
	 indicate the number of neighbours of that house who contain honey.

	 According to these numbers, how many houses with honey are 
	 there in the whole beehive?

	 A. 7		  B. 8		  C. 9	  	 D. 10		  E. 11

21.	 Coen wants to fold a cube from this net.

	

	 How should the white square (see arrow) be coloured so that the triangles with the same colour touch 
	 each other?

	 A. 		  B. 		  C. 	  	 D. 		  E. 

22.	 Grandma has a big bag of candies.
	 She divides the candies evenly among her grandchildren.
	 She gives each grandchild a little bag with the largest number of candies possible.
	 When she is done, there are 20 candies in each little bag.
	 She sees now that she has 12 candies left.

	 What is the smallest possible number of candies that were in the big bag?

	 A. 52		  B. 232		  C. 272	  	 D. 411		  E. 432

23.	 Jarin plans to saw a board into 12 equal pieces.
	 He marks the places where he should saw.
	 Mohammed wants to saw the same board into 16 equal pieces and he also marks the places where he 	
	 needs to saw.
	 Then Maya sawed the board on all the marked places.

	 How many pieces did Maya get after that?

	 A. 24		  B. 25		  C. 27	  	 D. 28		  E. 29

24.	 Ava writes a 3-digit number on the board.
	 Then Brandon writes a fourth digit to the right of Ava’s number.
	 He says “Look! The number increased by 2024”.

	 Which digit did Brandon write?

	 A. 2		  B. 3		  C. 4	  	 D. 8		  E. 9
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